a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
w

£ £
= 2
3
< 10°E @
e g
& ©
>
o
Q
>
Q
€ 10°E
10° <] :
=<
°
S
9 J..Ud: N 9 4_
I Eoo T r
x % : @ gsf
: 1 :
0.9 ; ; ;
=20 -15 -10 -20 -15 -10 -5
Vertex z (cm) Vertex z (cm)
Giobal_cmsSwI000tme __RECO

UéIVI VUUUL RUUUUUUUUTL

M_\V0001_R000000001 —Global _mkFitNewOLD1000time_ RECO
M—V0001~R000000001—Global—mkFitNewDUP1000time _RECO

10%[:

10°E

— 3 —
£0F E
= - 2
s b 5
° T S
[ o
>
---------- o
(3]
>
]
10°E E
[ <]
o =
= e
.......... 5
k) 3 fe!
g 1o B

B 59 . [

) 098+t oo e C S S A Sl i S
SUUUERUUIR0N! SRUNINNN 0 | ogbi L i . L T e ] P
-20 -15-10 -5 0 5 10 15 20 =20 -15 -10 -5 O© 10 15 20 -20 -15 -10 -5 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

3 3
= =
N Q
S g

5 g 10°
>
5
10°[ )
- 3]
1S
s
N
o
5]

10}

L bbb e

20 -15 -10 -5 0 5 10 15 20
Vertex z (cm)

Ratio

10 15 20
Vertex z (cm)

Ratio

Eo 4 F

[ G A o b IR A
E . :++++ :+$++.~> : :
-20 -15 -10 -5 O 5 10 15 20

Vertex z (cm)



	Contents
	Page 1


